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(i) 9'CB � � cffiTT � � � oo ?
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(ii) � oRJo

(iii) qTffi fH'a B3o
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(ii) G!t101�i � �� � i'iiH6831�i � oo ?

(iii) 9'CB 't:T � 13� � � I
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tfTmfWil�-��lf.Ro

(v) 9'CB � � h (})fTcf.trr.�.) t1- � .............. � fuft I 
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9. -vo fuB" lrH l{F.lOi" w fuR ~ -e- ~ feB- :

(i) F.[t Rf3QJ~ Oi}f fflw -;:ft ~ ~ ~ 3'" ~ "§ ~ ~ tit? 3

(ii) ~ tftfflt fflw -;:ft t lQ0T iw- ~ -mRIO W f831 fEh1T ? 3

(iii) ~8~i8 tft Hdt -e- ~ ~ ?) orit ~ ore? eft ~d31§ cft3T ? 3

(iv) ~ rrra;::ro ~ -;:ft tft fld It3 3- fEq tz fuB" I 3

(v) mm wfutr tft ~ 3- fEq & fuif I 3

3x3=9

1
lx6=6

1

1

1

1

1

8. (i) trtI HTftru ful:r tft CJB0T -J ?
(ii) m 3'" ufuffi fl-rRE ~ tit ?
(iii) Htft-1{W 3'" eft ~ -J ?
(iv) ~ "()l()q ~ -;:ft fqJ ID~ ~ ITO ?
(v) 11t1ra" ~ 'mg ftW' ful:r ern- Mr fuur -;::rTtr Fit ?
(vi) ~ t 11t1ra" 3- ~ U1ffiT # oft3r ?

(~) 1524 (}){)1514

(1:) 1519 (11) ] 518

STOT-'E" ( fE fa (.)1A)

~: -vo fuB" l{f.fc'>t tT ~ ~ mtt trt fEq ~ i*r feB- :

tIT

m 3'" eft ~ -J ? ~ m lldf~d31 ".g t=fh-rt3- m 1..Idf~d31 tft 1..Ifd09ifl' fett I

5
1x5=5

~=25

( 3 )

6. -vo fuB" lrH l{F.lOi" fuif fuR ~ -e- ~ feB- :
(i) ;;rofuq fesGit"l (l) tT eft )}fdCf -J ? 3

(ii) fcs?R- tft 1..Ifd09iF.JI ~ I fcs?R- ~ fesdQid<t q-ao ~ TI ~ <J?) ? 3

(iii) 91O.3T B3T -e- ~ i*r RdO!id -e- Gidlti(l) tT ~ q(t I 3

(iv) 9'cB i*r ~ ".g 9ito {1tGidli ~ ~ Eo ~ tT ~ c@" I 3

(v) 9'cB -e- fWm m -e- 1-fti3? ~ ~ c@" 1 3

3x3=9
7. ~ ~ 9'03" -e- fWm m tft )-{T3CJT ".g fuw i*r rrrE 1..1fd~d3(l)i tT ~ i*r ~

c@" I 5
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5
lx5=5

(i) ~ (')'dlfdCili -e- ~ f8B" I 3

(ii) CJTRCOl.8T Eq l@T M:r # ~ fflt ~ ~ ~ C«J ~ ~ ? 3

(iii) ~ -e- fRoi31 tT ~ ~ I 3
(iv) CJTRCOl.8T ~ l{Q'O 1BaT -e- fr8-qt -a BCfBT ~ I 3

(v) 8Ci133d -e- CfH'3- M:r ~ ~ ~CiI'~ci tT ~ ~ I 3

3x3=9
14. 9'cB 3- tfto -e- fu-a"S fr8-qt ~ ~ ~ tT ~ ~ I 5

tlT

lx6=6

1

1

1

grijf-l1 (I)ldll'aa F.fiA3d)

cR: -vo futt l{F.f0t tT ~ ~ HBt tlT ~ ~ M:r feB- :
12. (i) ~ ~ ~ uo ?

(ii) 9'cB -a ~ ol3t cit ~ ?
(iii) dltlR91 -e- ~ -a ~ ~ ~ ~ ?
(iv) RdCil'dl sft5 ~ ~ uo ?

WP.J CRt/ETS!-~ l.[F.Ri

"-=+~" ~ I(v) t=rH't t:: ~ tl Ht'O Q q lut:: uo
. " "~~ I(VI) Rt;dCil3 d'Rcd tT tJO}-f Q ult:'i'1'

(~) 24})fOfFB (",-) 24 ~

13. -vo futt lft:r l{F.f0t W fuB fJo -e- ~ feB- :

1

1

1

1

1
lx5=5

I}rq= 20

11. ~ (1947~ lrfuc:5t) -e- ~ ~ ~ :
(i) tfCTW

(ii) 1161(')Olc
(iii) ~

(iv) ~

(v) ~~

5
lx5=5

5

(4)
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3

3

3

3

3

2. ~9R1f¬ llct~ );f~-;lfif -ij ~ cft;r cf; \3W ~ :

(i) ~ if ~ ~ ~ t1~ ~?
(ii) 'l1mf if ~ eft ~ &AT cf; ~ ~ I

(iii) ~ ~ em ~ eft ~ Cfif mer ~ ~ ~ % ?

(iv) ~~ ~ WR cf; ~ ~ ~ '4T ~ ~ ~ % ?

(v) ~ em <iTcIT Cfif ~~T <FTI ~ 1f<1T % ?

1

Ix6=6

1

1

1

1

1

1. (i) m~~cf;~~1

(ii) ~C@~~I

(iii) m if \]F1(i&:l1 Cfif ~ fcRRT % ?

(iv) "ffi:m: eft BGffi ~ ~ ~ cf.R-m % ?
ftcRr ~ /~ RlCfliN1<1 );fH

(v) ~~ ~~~~ ~~~I

(vi) m trTtR em 21m 00 CfIT m 11Tt~ ~ ~ % 1

(CfI) ~ (&) ~
(rr) ~~R (q) CfIT

#l? = 25

(Hindi Version)

;ffc: (i) If{rr;ft i3'fTf-gf(ffCfi{ c# ;];&r 'lTSO 'R mZ[-cpfg/qrr"f-cpfg crrft &r;r -q. fcrrsrzr-ri'tg/qrr"f-ciTg
061A JfCT~z[ ~ I

(ii) iJM-~ ftft It ~ ~ fi'BcFir ~ ff fr1i ff{it CTfCc1 fff&rr 26 ~ ~ W ?#t W1 if ~ I

(iii) \J'ffr-~ if W~ T(l:[ ~ /roT C#rr~q[f[ Qff fciiit 1Ji! rr~ry/rr~<if Cfi{ ljC"'4ict5ry rytf fcl:izrr vrWrr I
(iv) fPft~.,.J#rqrif 1/
(v) \f{fc{~zrcFiffT ~ ~ frey ~ ~ I

(vi) ~mC#~~C#m¢t\3fTWTtl
(vii) ~ mrrm ~ J/rr ~ c# iJf[- fcrtFif if ~ mc# R!R" f["f rp 1Ji! ~ R!R" zrr~Jif c# ryr:r JfR­

f(~ ~ ~ if ffflffiT I

(viii) 1-1 JicFi qrff JTriicIi rr~ry Cfi{ \JTIf l:[<Ii ffTf'7 zrr l:[<Ii ~~ if, 3-3 Jiqff qrft JTriicIi rr~ry Cfi{ \JTIf 30-50 ~~ if
J/rr 5-5 Jiqff qrff JTriicIi rr~ry Cfi{ \JTIf ff7rJT7T 100-12 0 ~~ if ~ I

(ix) 'J1ffiT fMT ~ Cfi{ ~TT JflFft \JTIf-~ c# f1Tq rrreIt 2f?( ~ I

WT-Cfi (~)
-;ft?:: ~9R1f¬ llct);f~-;lfcf; \3W 'Z9J ~~ -31~ 'Z9J cncf<1 if ~ :

( 5 )
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~

~ u Cf<IT ~ % ? ~ ~ WJftr ~ BriRl ~ WJftr qit ~ ~ I

5

1

1
1

1

lx5=5

~=20

1
1

1

1

1

1

(rr) ~~fi a:rr:m- lx6=6

3

3

3

3

3

3x3=9

5
lx5=5

5

1WT~ (~)
'l)c: f.FTJiitfum ]:j'~;1f ~ \3W 1:% ~~ -31l'.FIT 1:% cncF1 if ~ :
5. (i) mtl ~ u~ ~ % ?

(ii) ~\3lt qit ~ ~ \3if1lf)(TI~IQ CfiR-m ~ ?

(iii) ~ CfiT 1:% ~ m~ I

(iv) ~ ~~\~jlll{l CFITmm % ?
ftcffl ~~ I~ FcFfli4I'"1 ]:j'~~

(v) ~ ~ ~ ~ (131R ~ ~) qit ~~ if ~ I

(vi) ~~~TUmwt~ ~%I
(CIJ) ~ ({Sf) 0WIffi

6. f.19iitf@~ ~ ]:j'~;1f ~ B ~ 'dFr ~ \3W ~ :

(i) ~ frr~ CfiT CFIT \3T~ % ?
(ii) Wt~Tqit ~ ~ I Wt~T ~ f1tfficn mer c$r B ~ ?
(iii) ~ ~ ~ mrn if ~ ~ ~ CfiT cruR cg I

(iv) ~ if ~ (f~ ~ ~ qit ~ cfR ~\3lt CfiT cruR 9ft I
(v) ~ ~ ~~fi Clf["q'f{ ~ ~ CfiT cruR cR I

4. ~~~~'>ft:

(i) ~~

(ii) ~~

(iii) ~ ~ CfiT $1
(iv) ~ BW«IT CITffi ~

(v) iFf{ I

3. ~ ~ fcRlm ijdrlf ~ ~ ~cH~1'i CfiT CJ?r<t m % ?

-31~

~ qit ~ 9?l CfiR-CfiR u mer ~ m ~?

(6)
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1

1

1
lx5=5

1

11. $nq (1947B ~) i6 ~ if ~ :
(i) ~

(ii) 4C'JHch1c

(iii) ~

(iv) ~RiI~lql@

(v) ~~

5
lx5=5

5

3x3=9

3

3

3

3

3

9. ~kjR1fu!d ~ ~~-;.ft if "B Fct-m cfA cf; ~ ~ :

(i) *~ \P1 fm" \Jfr ctt ~ ~~ B ~ ~ :5\ wmr ey ?

(ii) ~ ~ m \Jfr ;r qc;rr if ~ ~ ~ ~ ?

(iii) ~ ctt W~ cf; q~~ ~;r ~ m- B~ ~ M?

(iv) ~ i3l\lR ~ \Jfr ctt ~~ q-{ ~ ~ ~ I

(v) ~ ~ ctt ~ q-{ ~ ~ ~I

1

lx6=6

(\Sf) 1514 ~. if
(F.f) 1518~. if

(CIJ) 1524~. if
(If) 1519~. if

1

1

1

1

1

~=25'ifrT-lJ (~)

;ftc: ~91~Rsld~~-.rrcf; ~ ~ ~TCG: i3l~ ~ ~ if ~ :

8. (i) \jfr:J ~ ~ ~ % ?

(ii) ~ ~ ~ ~ tIT m ?

(iii) lfift-~m"B ~ 'liTCf ~ ?

(iv) ~ ~ ~ \Jfr cim ~ ~ ~ ?

(v) m~ '"{Rf ft.1~'fcR:r q)R'f if <lim \1fTffi ey ?

(vi) ~;r m q-{ ~ ~ ~ M ?

(7)
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(English Version)

Note: (i) You must write the subject-code / paper-code 06/A in the box provided on the title
page of your answer-book.

(ii) Make sure that the answer-book contains 26 pages (including title page) and are
properly serialed as soon as you receive it.

(iii) Question/s attempted after leaving blank page/s in the answer-book would not be
evaluated.

Ix5=5

5

5

3

3

3

3

3

3x3=9

1

Ix6=6

1

1

1

1

1

~=20

(iii) $r~fu;r cf; Ri@"\11 cpr m ~ I

(iv) ~ CJm >r~ cB- ~.m 1R ~ ~ I

(v) ~ICfJd;::l( cB- lWT :q i3TA CffiTft ~T1lrr,*cpr quA- ~ I

'JIrT-q (~~)

;fie:: f1kj~R5ld ]:p-;ff cf; \3"W t::% ~]CC{ i3T~ t::% ~ it ~ :

12. (i) ~ ~ ~ ~ ?

(ii) ~ c8 ~ ~ CFlT ~ ?

(iii) ~~ cf; ~ cpr ~ cRl ffirr ~ ?

(iv) ~ ~ <$:r tmt ~ ?

ftcffi B$1/~ fqCfJ<A1£f 1;f~1"

(v) ~ cf; ~ ~ CflT ~ ~ ?

(vi) ~ ~ cpr iJFT CflT :§'* I

(CfJ) 24 iWffif (~) 24 ~

13. f19~fuld qfq >r~-.rr:q -« fct-m ~ cf; \3"W ~ :

(i) ~ 'i1'IR<4?f cf; .aTI$Iif{ ~ I

(ii) ~ ~~:q ~ i3ltr fcRR ~-~ ~ Of){ BCfJffi ~ ?

( 8 )
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[x5=5

5Which elements affect the Climate of India ':

or

3x3=i)

53. How does natural vegetation act as a boon for industries?

3

3

3

2. Answer any three questions out of five.

(i) How many gauges of rail tracks are there in India?

(ii) Name the famous Gold mines in India.

(iii) \Vhy Solar energy is said to be future energy source?

(iv) Inspire of being close to the Arabian Sea. why docs Rajasthan remain dry?

(v) Why is India known as country of villages '?

lx6=6

(b) Telephone

(d) Computer

(a) Radio

(c) Doordarshan

1

Marks = 25Part-A (Geography)

Note: Answer the following questions in one word or one line:

1. (i) Name two non-ferrous Minerals.

(ii) Define soi1.

(iii) What is density of population of Punjab?

(iv) Which is the highest peak of the world?

Fill in the blank/multiple choice questions.

(v) Hirakud dam is meter long and meter high.

(vi) means of communication is called communication medium of 21st century.

(iv) All questions are compulsory.

(v) Draw diagrams and maps, where necessary.

(vi) Useof stencil is allowedfor drawing maps.

(vii) Blind students will clearly write about situation of the centre, place or name of the
objects asked instead offilling the maps in Geography and History.

(viii) The answer of each question of 1-1 mark should be in one line or one word. of
3-3 marks in about 30-50 words and of5-5 marks shall be in about 100-120words.

(ix) Attach maps of India and Punjab with your answer-book.

(9)

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click


..OhiA--·X

What do you mean by savings? Define average propensity to save and Marginal propensity to
save. 5

lxS =5

or

3x3=9

7. Write a short note on change in volume and direction of India's foreign trade after Independe nee.

5

3(v) Explain the importance of India's foreign trade.

(ii) Define investment. What are the elements of determining the investment? 3

(iii) Explain the contribution of government in the development of Indian Agriculture. 3

(iv) Describe any three problems of small scale and cottage Industries in India. 3

3

6 Answer any three questions out of five.

(i) What is the meaning of economic planning?

1)<6=6(c) Foreign Trade(b) Imports(a) Exports

(vi) Goods that a country gets from other countries are called

(iii) Mention one basic Industry ofIndia.

(iv) What IS seasonal unemployment?

Fill in the blank/multiple choice questions.

(v) R.B.I. was established in .

(ii) What are any two failures of planning?

Note : AnSH'er the following questions in one word or one line:

5. (i) What is meant by green revolution?

I x~,=5
Marks = 20Part-B (Economics)

4. Show on the map ofIndia :

(i) Hirakud dam

(ii) Indira canal

(iii) Black soil area

(iv) A "tate with high literacy rate

(v) Chennai

( 10)
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1

1

1

I' .

1 .

]x5=5,

11. Fill in the map of Punjab (before 1947 A.D.) :

(i) Batala

(ii) Pathankot

(iii) Multan

(iv) Chillianwala

(v) AnandpurSahib

5
lx5=5

Describe the Plains of Punjab.
or

3

3

3x3=9
5'-10.. Describe Jaito Morcha.

3 -

3 ,

3 :•

9. Answer any three questions out of five :

(i) Which activities of Sri Satguru Ram Singh ji frightened the Britishers ?

(ii) How did Guru Gobind Singhji spend his childhood in Patna ?

(iii) After the treaty of Bhairowal how did the British treat queen Jindan ?

(iv) Write a note on the martyrdom of Guru Arjan Dev ji.

(v) Write a note on the battle of Chamkaur Sahib.

1

lx6=6

(b) in 1514A.D.

(d) in 1518 A.D.

(a) in 1524A.D.

(c) in 1519A.D.

(vi) When was Babur's first attack on Punjab?

8. (i) Who wrote the Jaap sahib? 1 .

(ii) Which was the first Misl ? 1

(iii) What is the meaning of the Manji system? 1

(iv) What type of sacred thread did Guru Nanak Dev ji want? 1

(v) Inwhich period Punjab was called 'Sapta Sindhu' ? 1

Marks = 25tPart-C (History)

Note,' Answer the following questions in one word or one line:

( 11 )
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5

lx5=5

Describe the powers of state Legislature.

or

14. Explain the main (basic) reasons which created tension between India and China.

3

3

3

3x3=9

5

(iii) Explain the Principles of Panchsheel,

(iv) Discuss the relationships of President and Prime Minister.

(v) Explain hurdles in the way of democracy.

13. Answer any three questions out of five.

(i) Mention rights of an Indian citizen. 3

(ii) When and how many Anglo-Indian's can be nominated by the President in the Lok Sabha ?
3

lx6=6(c) 24 December(b) 24 October(a) 24August

1(v) The upper house of Parliament is called .

(vi) United Nations was established on .

12. (i) What is illiteracy?

(ii) What is the Atomic policy of India? 1

(iii) How the members of Rajya Sabha are elected? 1

(iv) Who is a Public Prosecutor? 1

Fill in the blank / multiple choice questions.

Marks = 20Part-D (Civics)

Note: Answer the following questions in one word or one line:

( 12 )
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